a?xy?x (x%y)b = 9xy® 4 W, A4 a, b, cofl Hoto] ab+c O FH2?

@D 10 ® 12 3 13 @ 14 ®B 21



2
X1 :977 X2 = —, X3
X

*2?

—olgt g uf], x; - x- x3 -






mlo
)
L
ol
ol
el
a
o

4. —x2y - {(—xy 3x3y2}

1 2
@ 3x2 @ 3ty v

@ —3x2 ® 3x%y?



a#0,b#00°]1 x, y 7t AL off, o Dpl-v) 2 pl-1)g(1-2) &
7ves] 5HH? (H x> y)

@ 2 @
®

b 2x+2
%)

NS R



y

Tx

42x3y? + 12xy3 +

6.

® Txy

@ 3x2



7.

O 27 5 A A &2 A2 B 92 A7

@ xx (-2x%)% = 4x°

© (2x)2 x (3x)% = 12x*

© (-6xy%) x §x2y = —4x3y?
® —3%x x4y = —36xy

2 3
® §x2yz ” §xyZ2 — x3y27

D 170 @ 270 3 37§ @ 470

® 571




a # 0, 2L
b#00°]1 x, y7F AL o, a0p0-0 1 py) g0 &
=

Fs] stefet, (2 x> y)

@ 2 @ g O
2x—-2y X ”
o (O e ()"



27]
2 3
@ 6a* + 3ab = %
2 1 4x
O Zxty+-—x?2=—
3 6 y

© (2x?)% + (-2x3)? = 8x*
2
@ (-2x%y)3 + (—%xy) = 18x*

® (-2%)° + (40 =~

D 170 @ 27 3 37§

@ 47§

©)

(o2




o) = Jaa[ ]

1
b

)+

1

b—- =
a

2:30]5’_,<

b =

a

10.



11.

0% 48 AR 23t o) =)
a

@ 15a2%b = (—%ab)

)

NEENE



12. (a*0%)% = @b =dp® & W, x +y o] g2

D 2 ® 3 B 4 @ 5









® 16x%y = 2xy x 4x = 32x2









O -8x!?

@ 16x7

® -10x8



19. oh AeA [ Rbof] ggke A8 mE oy

Fl

@ -3a%b @ (-3a%p)? ® 9a*h?

@ —944p? B 6a*b?



20. the [ fore] ure A2 Fofet

—15)cy2 +|:] = _57y

@D 3x3y @ -3x3y

@ -3xy° ® 3xy?

@ 3xy3




21. 1502+ |=- 5y4|:]o}o1 olgre )09

@ 3x3y @) —3x3y ©) 3xy3

@ -3xy3 ® 3xy?



O -8x!?

@ 16x7

@ 8x!'2
B —16x7




23, ohZ A [ ] Qo] gure A2
[ ]+ (~6a2b?) x (2ab?)® = —124°D°

@ -3a2%p @ -3a3b ® 9a%b?
@ —9agp? B 6a*b?






109
Fore A2
Qbof] gt
2x%y)2 ol A [ ] |
= (— X _
48x°y N
5.
2 @ 6xy —
—6xy
@ ® @

6xy



-Za%b

®

—Zab®
4
§a2b3

@
®

——a’b
——a’b?

@
@



9a%b®
10

10b
3a?
@ 8ab?



28.

a:b=2:594 0,

(2a5b3)3

gy o @2

® 12

@ 16



[l [ et

)<+

1

b+~
a

=

1:2 0]

i b

a

29.

® 3

@ 2



